PMP = BT AR4A R 3%

*
79
AT R PMP £ K69 X R AR . ARMAKIE T 5] 50R.

1. Effective stakeholder management includes all of the following project elements
except:
A. Clear requirements definition
B. Scope change control
C. Timely status information
D. Frequent cost reports
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2. Aprojectis:
A.A process of considerable scope that implements a plan
B.A group of ideas managed in a coordinated way to obtain a desired outcome
C.A temporary endeavor undertaken to create a unique product or service
D.A series of tasks or functions that must be completed by a certain date
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3. Which of the following is not a characteristic of project phase?
A. Milestones
B. Objectives
C. Estimates
D. Deliverables
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4. In which type of organization, the project manager’s role most likely part-time?
A. Functional
B. Projectized
C. Weak Matrix
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D. Strong Matrix
BEIR—AF X R GGA R, BB R A E R RFIRE?
A TAREA
B.7 A A
C.554E %A
D.5&4E %A

5. The greatest degree of uncertainty is encountered during which phase of the
project life cycle?
A. Concept
B. Planning
C. Implementation
D. Closeout
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6. The disorientation experienced by people who suddenly find themselves living
and working in a different environment is known as:
A. Culture shock
B. Socio-centrism
C. Temporal shock
D. Ethno-centrism
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7. What is the MOST effective process to ensure that cultural and ethical differences
do ot impede success of your multi-national project?
A. Co-locating
B. Training
C. Forming
D. Teaming
AR SAC A T 6 2 B T2 By FEAR 6995 B R B s 2 69 0l A 1422 A 47
A. Bl
B. 39|
C. B
D. %A

8. In which project phase do you have the GREATEST influence on project risk?
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A. Conceptual

B. Design

C. Execution

D. Implementation
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9. Leadership and management are both necessary on projects. One definition of
managing is that is involves producing key results expected by stakeholders,
whereas leadership involves:

A. Establishing direction, aligning people, and motivating and inspiring others

B. Getting things done through other people

C. Using charismatic Power to motivate others to be productive

D. Using all types of power, as appropriate, as motivational tools
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10. Rolling wave planning provides information on the work to be done:

A. Throughout all phases of the project

B. For successful completion of the current phase of the project

C. For successful completion of the current phase and subsequent phases of the
project

D. In the next phase of the project
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11. The greatest advantage of matrix organization is that:
A. It improves the resource access for project manger
B. There are more than one boss for team member
C. It makes communication easier
D. It makes reporting simpler
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12. Complex projects, involving cross-disciplinary efforts, are MOST effectively
managed by:
A. Multiple lead project managers
B. A functional organization
C. A strong matrix organization
D. A strong traditional manager
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13. A project manager’s company operates in a high-technology area requiring the
integration and sharing of several functional specialties. The project manager is
considering the appropriate organizational structure for a new project. The likely
choice would be:

A. Matrix

B. Tight matrix

C. Functional

D. Projectized
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14. Assumptions generally involve:
A. A degree of risk
B. Financial controls
C. Historical information
D. Lessons learned
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15. You are building a water treatment facility. Routine tests reveal that there are
contaminants in the water but that they have an extremely low risk for causing
any sickness. As the project manager, you should:

A. Inform the public that a detailed examination has been ordered to determine the
extent to which the problem exists

B. Do nothing because there is extremely low risk for sickness except for some
effects on small children and the elderly

C. Tell the public there is no problem, except for small children and the elderly
who need to boil the water before drinking

D. Educate the public about the advances on water treatment technology and the
industry efficiency and safety record
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16. Change requests occur in all the following forms except:
A. Oral or written
B. Legally mandated or optional
C. Formal or informal
D. Externally or internally initiated
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17. Configuration management system is a technique for:
A. Integrated change control
B. Project plan execution
C. Scope planning
D. Procurement planning
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18. Which of the following is an example of a constraint in project plan
development?
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A. Records of past performance

B. Financial reports from similar projects

C. A predefined budget

D. Lessons learned from previous projects
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19. Integrated change control is primarily concerned with:

A. Influencing factors that cause change, determining that change has occurred,
and managing factors changes as they occur

B. Maintaining integrity of baselines, integrating product and project scope and
coordinating change across knowledge areas

C. Integrating deliverables from different functional specialties on the project

D. Establishing a change control board that oversees the overall changes on the

project
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20. _ is a collection of formal, documented procedures that defines the steps by
which official projects may be changed.
A. Lessons learned
B. Change control system
C. Project charter
D. Configuration management
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21. Typically, change control systems include automatic approval of certain types of
changes. An example of such a change is one that is:
A. Suggested by the project sponsor
B. The result of an emergency
C. Suggested by the customer
D. Made mandatory by a new regulation
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22. Which of the following techniques is used to control the project schedule?
A. Pareto diagram
B. Performance measurement
C. Parametric modeling
D. Statistical sampling
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23. Lessons learned from projects are significant because they:
A. Must be collected to meet requirements of organizational policies and
procedures
B. Show the causes of variances and the reasons certain corrective actions were
selected
C. Show why certain projects were selected by the organization over others
D. Show why certain people were selected as project manager and team members
over others
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24. Elements of changing a project schedule inclued all of the following except:
A. Obtain the appropriate levels of approval
B. Submit the appropriate change requests
C. Evaluate the impact of a change to the schedule
D. Adjust the project end date to the schedule variance
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25. Scope definition is to:
A. Develop a plan from major stakeholders
B. Develop a written scope statement as the basis for future project decisions
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C. Formalize acceptance of the project scope
D. Make project milestones
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26. A change control system should include all the following except:
A. Procedures for automatic approval of defined categories of change
B. Paperwork, tracking systems, and approval levels necessary for authorizing
changes
C. A description of the powers and responsibilities of the change control board
D. Procedures for conducting a mid-project control system review
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27. Which of the following Project Scope Management processes involves
subdividing the major project deliverables into smaller, more manageable
components?

A. Scope Planning

B. Create WBS

C. Scope Change Control
D. Scope Definition
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28. Status review meetings are:
A. Held to notify stakeholders of critical information
B. Regularly scheduled meetings held to exchange information about the project
C. Held to update departmental staff on project status
D. Held only when there is an identified problem
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29. A Work Breakdown Structure numbering system should allow project staff to:
A. Identify the level at which individual WBS elements are found
B. Identify configuration management milestones
C. Estimate the costs of WBS elements
D. Provide project justification
—/N AR SRR LE M Y R F G % AR BRI T
A. RAEA WBS LR AT A6 AR
B. AAf B & 2 AR
C. f53+ WBS L& #) Ak
D. 424 B )i

30. To ensure that all proposed projects receive equal consideration in the
organization, you believe you can use either benefit measurement methods or
constrained optimization methods. All the following are examples of benefit
measurement methods of project selection except:

A. Benefit-cost ratio

B. Payback period

C. Economic model

D. Multiobjective programming
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31. Which of the following is an example of a good measurable project objective?
A. Construct a building
B. Implement a new telecommunications system
C. Lay 2000 bricks by Thursday, May 31
D. Develop a program for providing network maintenance to Novell network
customers
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32. An example of scope verification is:
A. Reviewing the performance of an installed software module
B. Managing changes to the project schedule
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C. Decomposing the WBS to a work package level
D. Performing a benefit/cost analysis to determine if we should proceed with the
project
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33. The project scope is measured against the ,while the product scope is
measured againstthe
A. Plan, requirements
B. Requirements, measure of success
C. Scope baseline, scope definition
D. Contract, verification
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34. When an organization chooses a project selection model, the most important
criterion is:
A. Capability
B. Realism
C. Ease of use
D. Cost
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35. The Scope Management Plan is included in which of the following documents?
A. Project plan
B. The Work Breakdown Structure
C. The Scope Statement
D. Project specifications
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36. Reviewing work products and results to ensure that all were completed
satisfactorily and formally accepted is part of:
A. Risk management
B. Quality control
C. Change control management
D. Scope verification
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37. The principal sources of project failure are:

A. Lack of a projectized or strong matrix structure, poor scope definition, and lack
of a project plan

B. Lack of commitment or support by top management, disharmony on the project
team, and lack of leadership by the project manager

C. Poorly identified customer needs, a geographically dispersed project team, and
little communication with the customer until the project is delivered

D. Organizational factors, poorly identified customer needs, inadequately
specified project requirements, and poor planning and control
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38. What is the difference between scope verification and quality control?

A. No difference

B. Scope verification is concerned with the correctness of work results while
quality control is concerned with the acceptance of work results

C. Scope verification is concerned with ensuring that changes are beneficial while
quality control is concerned that the overall work results are correct

D. Scope verification is concerned with the acceptance of work results while
quality control is primarily concerned with the correctness of work results
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39. All of the following are examples of a source of scope change except:

A. A variation in government regulations

B. Failure to include a required feature in the design of a telecommunication
system

C. Discovering a need to engage in bottom-up cost estimating

D. Introducing technology that was not available when scope was originally
defined
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40. The critical path time needs to be reduced by 20%. You may take the following
actions EXCEPT
A. Adding resources
B. Crashing time schedule
C. Eliminating float
D. Paralleling activities
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41. “I cannot test the software until I code the software.” This expression describes
which of the following dependencies?
A. Discretionary
B. Soft
C. Preferential
D. Mandatory or hard
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42. Decomposition is a technique used for both WBS creation and activity definition.
Which statement best describes the role decomposition plays in activity definition
as compared to WBS creation?

A. Final output is described in terms of work packages in the WBS
B. Final output is described as deliverables or tangible items
C. Final output is described as activities or action steps



D. Decomposition is used the same way in WBS creation and activity definition
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43. Resource leveling generally
A. Increases the total project cost.
B. Delays project completion.
C. Requires less resources
D. Requires more resources
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44. An important part of schedule control is to:
A. Determine whether schedule variations require corrective action
B. Define the activities needed to produce the project’s deliverables
C. Assess whether scope definition is adequate to support the schedule
D. Ensure that project team morale is high so that team members can work at their
full potential
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Read the following description to answer question 45 and question 46

In the project network diagram below, each node is activity, the number is the box
is the duration of the activity in days.
WA TFHE, BA% 45 A5 46 H.

ETEGRER T, BN ER—ANFES, EFAET QT AT LI R
KAERZH THR: B

F
2 » 5
A (o] G 7
» 6 » 3 2
H
7
D E - 1
4 K -




45. The critical path is:
A.A-C-F-J
B. A-C-G-J
C.A-C-H-I-]
D. A-D-E-I-J
KAEHRIE
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D. A-D-E-I-J

46. The duration of the critical path is:
A. 12 days
B. 19 days
C. 14 days
D. 16 days
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47. Which of the following is not a project time management process?

A. Activity definition

B. Activity verification

C. Activity sequencing

D.Activity duration estimating
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48. Several tools and techniques are available for activity sequencing. The tool or
technique selected can be determined by several factors. If the project manager
decides to include subnets or fragnets as part of his or her scheduling technique,
what would that decision say about the project?

A. The work is unique requiring special network diagrams at various stages

B. Software that manages resources is available over an existing electronic
network

C. Several identical or nearly identical series of activities are repeated throughout
the project

D. Multiple critical paths exist in the project
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49. The required inputs for schedule control include all except:
A. Project schedule
B. Performance reports
C. Change requests
D. Project network diagram
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50. The Time Management Process that involves identifying and documenting
interactivity dependencies is called:
A. Activity Sequencing
B. Activity Definition
C. Schedule Development
D. Activity Duration Estimating
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51. Activity has a duration of 3 days and begins on the morning of Monday the 4th.
The successor activity, B, has a finish-to-start relationship with A. The
finish-to-start relationship has 3 days of lag, and activity B has a duration of 4
days. Sunday is a non-workday. What can be determined from these datas ?

A. The total duration of both activities is 8 days

B. Calendar time between the start of A to the finish of B is 11 days
C. The finish date of B is Wednesday the 13th

D. Calendar time between the start of A to the finish of is 14 day
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52. Schedule control is concerned with all the following except:

A. Influencing the factors that create schedule changes to ensure that the changes
are beneficial

B. Determining that the schedule has changed

C. Managing the actual changes when and as they occur

D. Changing the schedule based on customer demands
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53. Three major network diagramming methods used in project management
A. AOA, PERT and ADM
B. PERT, CPM and GERT
C. PDM, ADM and PERT
D. AON, AOA and PDM
ZA 26 TRE E R E TR
A. AOA, PERT and ADM
B. PERT, CPM and GERT
C. PDM, ADM and PERT
D. AON, AOA and PDM

54. An activity has an early start date of the 10™ and a late start date of the 19th. The
activity also has duration of 4 days. There are no non-workdays. From the
information given, what can be concluded about the activity?

A. Total float for the activity is 9 days

B. The early finish date of the activity is the end of the day on the 14th

C. The late finish date is the 25th

D. The activity can be completed in 2 days if the resources devoted to it are
doubled
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55. The major difference between PERT and CPM is that PERT:
A. Uses the distribution’s mean(expected value) in computing the schedule
B. Uses the most likely estimate to compute float



C. Focuses on calculating float to determine which activities have the least
scheduling flexibility

D. Includes non-sequential activities such as loops or conditional branches as part
of the diagram
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56. Mont Carlo Analysis reflects:

A. An indication of the project risks

B. A method to estimate activity duration

C. A method to simulate the sequence of activities

D. A method to ask for more staff from top management
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57. Conditional diagramming methods such as GERT are used:

A. To show the four types of dependencies(finish-to-start, finish-to-finish,
start-to-start, and start-to-finish)

B. For a graphical representation of the network that is easier to interpret that
PERT charts

C. In the situation that PDM and ADM do not allow non-sequential activities,
such as loops or conditional branches

D. To help expedite the preparation of a project network diagram
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58. Activity A has a pessimistic(P)estimate of 36 days, a most likely(ML) estimate
of 21 days, and an optimistic (O) estimate of 6 days. What is the probability that
activity A will be completed in 16 to 26 days?

A. 55.70%
B. 68.26%
C. 95.46%
D. 99.73%
FH A BB (P ) A 36 R, RTAAIMETT (ML) A 21 X, RIAEH(O)
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A. 55.70%
B. 68.26%
C. 95.46%
D. 99.73%

59. In project time management, crashing means:

A. Reducing project duration by redefining logical relationships

B. Reducing computer network downtime for schedule risk modeling

C. Applying additional resources to all project activities

D. Applying additional resources to critical path activities by priority
AT AT EE T, AL T2

A BRIFHTLEHX R RS A TH

B. it BN ARE Y o+ BALR 45 T4 B 1]

C. *FHTH R B & 3h 3640 W Ao b4 F R

D. Ak BT KA IEAR G 7 B a6 I e 6 FE R

60. All the following are characteristics of a dummy activity except that it:
A. Is used only in activity-on-arrow networks
B. Has zero duration
C. Requires resources
D. Indicates a precedence relationship
T A ARENF M, BT EMNES):
R AOA W41 )
SR
e
HT—IMEAK AR

oSCowp

61. Ifthe cost variance is the same as the schedule variance, then:
A. The cost variance is due to the schedule variance
B. The variance is favorable to the project
C. The schedule variance can be easily corrected
D. Labor rates have escalated since the project began
R A £ 5 R E AR EMASE, A
A. BAMR £ % it E AR £ 5| AL
B. & £4F 5 E 2 A 4y
C. TR EE A E
D. AZRAEXRGMNAB FHHRZHT

62. The cost management plan:
A. Describes how CVs will be managed
B. Establishes the cost baseline
C. Measures and monitors cost performance on the project
D. Establishes the performance measurement baseline



ARAVE B R A
A. & o7 E TR AR £
B. 2 35 RAK X
C. MZ Ao W50 B AL 2K
D. &3 4EN Ak

63. If operations on a work package were estimated to cost $1500 and finish today
but, instead, have cost $1350 and are only two thirds complete, the cost variance
is:

A. +$150

B.-$150

C. -$350
D. -$500

Jo R — A TAE LA RAAE T A $1 500, HFEESRT AR, RinFEFEERART

$1 350,/ TAE R AT 2389 2/3, MR AR £
A. +$150
B.-$150
C. -$350
D. -$500

64. Considering the project schedule during the cost budgeting process:

A. Identifies the project elements so that costs call be allocated

B. Allows costs to be allocated to the time period when they will be incurred

C. Provides another way to help measure and monitor cost performance

D. Provides another way to help measure and monitor schedule performance
Ao BT AL AZ o 2SS B A X AT A

A, HEIR B LRE S, MRS B

B. SUTFHE A AR R 6 B AT 4 B

C. ARALGHNF 5 BA=REH —F 7 ik

D. At E L& 5 EAm RS —Fr o ik

65. Unlike bar charts, milestone charts show:
A. Scheduled start or completion of major deliverables and key events
B. Activity start and end dates
C. Expected durations
D. Dependencies
H5HER TR, ZRAEET:
A. TE &2 SATRR Ao KA F TR ) T4 R4 R
B. E#) T 4bAesk X B H
C. #9724
D. 1R # M

66. Rebaselining may be an output of cost control when:
A. CVs are severe, and a realistic measure of performance is needed



B. Revised cost estimates are prepared and distributed to stakeholders

C. Corrective action must be taken to bring expected future performance in line
with the project plan

D. EAC shows that additional funds are needed to complete the project even if a

scope change is not needed
AT 2T, EHH AR RIT R RAIZH 69 —Téi ik ?

A. ﬁkmﬁafé (CV) EHE*“F T, JFEEZEFGSEON 6 R

B. T8 RAGE R CEAEET T, FASALTRETEA

C. seIURIAA ﬂ:_%j*“m, A& FREA 64 R R 25 A B %A —F

D. B AT ZHATEE X £, EAC LANE ZHMIF LR TAAE

67. Which of the following rule is the most conservative rule for progress report?
A. 50-50 Rule
B. 0-100 Rule
C. 20-80 Rule
D. 100-100 Rule
T 7RI AR RN F AR 4 —AF?
A. 50-50 &)
B. 0-100 7%
C.20-80 M|
D. 100-100 1

68. The cumulative CPI has been shown to be relatively stable after what percentage
of project completion?
A. 5% to 10%
B. 15% to 20%
C. 25% to 35%
D. 50% t0 75%
IR E T, /&, Rite) CPlsta A IAFARRT 4822
A. 5% ~ 10%
B. 15% ~ 20%
C.25% ~ 35%
D.50% ~ 75%

69. Which term describes a modification of a logical relationship that delays a
successor task?
A. Lag
B. Lead
C. Float
D. Crashing
T AN RiBHGE T 3E R G AT 50918 5 K 2 6915702
A. WE
B. A7
C. ¥ Zhaf 1]



D. #& T

70. Which of the following is not an example of a direct cost?
A. Salary of the project manager
B. Subcontractor expenses
C. Materials used by the project
D. Electricity
T IAR—I R A AR R A — A T2
A. B ZEF A
B. 5@ &%t A
C. T B PT84
D. &%

71. Of the following estimates, which most accurately reflect the actual cost of the
project?
A. Bottom-up estimates
B. Order of magnitude estimates
C. Analogy estimates
D. Conceptual estimates
BETIMER T, I—AREARRBET T A 89 5 5 A2
A. B TFm ey
B. 44K
C. Erftf
D. #& 4

72. The approved budget is $100 000. If the estimate is between $90 000 ~ $125 000,
what kind of estimate is this?
A. Rough order of magnitude
B. Budget estimate
C. Approximated estimate
D. Definitive estimate
PO A FREZ$100 000, 4= RAE HA$90 000 ~ $125 000 Z 18], A 4 XA+ 15 5B T
A A S0
A BB
B. TR
C. ¥t A
D. #EEAE

73. The purpose of cost budgeting is to:

A. Determine the cost of the resources needed to complete project, activities and
allocate them to the proper chart of accounts for the organization

B. Monitor cost performance to detect variances from the plan

C. Allocate cost estimates to individual work items to establish a cost baseline
against which project performance can be measured



D. Expend the minimum amount of funds possible
ARATRF-4Y B 6 A
A, BRI B EHITE TR RAFHECA A B F & 4 o) 23t
B
B. Bdxm ARG, Ee 56k L
C. AR IR B RAEF, A — /R B 4808 AR T X
D. ATTHEFE T RV 49504

74. Which of the following calculations cannot be used to determine EAC?
A. BCWP to date plus the remaining project budget
B. Actual to date plus a new estimate for all remaining work
C. Actual to date plus the remaining budget
D. Actual to date plus the remaining budget modified by a performance factor
T @At i R A T A2 EAC?
A. %7749 BCWP An L F| 4490 B FUL
B. B A8 K FRARAIm AT 4 TARHT 6945 B
C. A7 4Y 5 5 AR 4 09 TR
D. %789 F 5 AR A b 22 45 30 B T8 509 B A0y T

75. Double Declining Balance is one kind of:
A. Decelerated depreciation
B. Straight Line depreciation
C. Accelerated depreciation
D. Life Cycle Costing calculating
TG B B ST o —,
A, BARATE &
B. A& EE
C. AviR¥7T\8 %
D. A4 B HAAIHE

76. The process of evaluating overall project performance on a regular basis to
provide confidence that the project will satisfy the relevant quality standards is
called:

A. Quality Assurance

B. Quality Control

C. Quality Planning
D. Quality Review

VA B F 8 7 KT AT AR S BOR RS B A R AR X R Z AR AT v eyt

AR
A. JRERIE
B. i &2
C. e
D. R &1+ H



77. All the following are root-cause analysis techniques used in quality management
except:
A. Fishbone diagrams
B. Ishikawa diagrams
C. System of process Flowcharts
D. Control chart
FIA T8RRI Z 8 2 RABRARBESATHEAR, RT:
A &2RH
B. Ishikawa P
C. AR IR
D. &4 H

78. When a process is considered to be in control, it:
A. Should not be adjusted
B. May not be changed to provide improvements
C. Shows differences caused by expected events of normal causes
D. Should not be inspected or reworked for any reason
L ARMOAA K T aH P A, €
A, LR
B. T VAR
C. RBtT dfey EFREF 69 R E G| A2eh 27
D. Rttt & B B AR A & KA T

79. Which of the following item is not one of the seven tools the most popularly used
in quality control?
A. Pareto chart
B. Cause-and-effect diagram
C. Control chart
D. PERT chart
FAR—RF T EEF P Rw Ay T AT EZ—?
A. AR A
B. B R4 H
C. #&4H
D. PERT H

80. The statistical control chart is a tool used primarily to help:

A. Monitor process variation over time

B. Measure the degree of conformance

C. Determine whether results conform

D. Determine whether results conform to requirements

GitdEf B2 — 2 AR B # TR,

A, Y3z R AT 69 1 A2 4R £

B. ME—8 A

C. ARLZERRE K



D. ARLERRAEEEZR—K

81. Design of experiments is a technique used in quality planning to:
A. Identify which variables have the most influence on overall outcomes
B. Provide a comparison between project quality management practices
C. Identify where less rework will be required in any production process
D. Determine the most wasteful aspects of a process, to improve productivity
SISt AR F er& | %) A B ey —FPE A, AT
A, BT T B4R R KRR
B. %ﬁaﬁ%$£¢&&%m&
C. AT AT & ZE DV HR T
D. AREX IR PALRSRRET, ARGLETF

82. Statistical sampling is a method to determine the conformance to requirements for

some element or product of a project. Its greatest advantage is that it:

A. Does not require a large expenditure of resources

B. Is accurate enough with a sampling of less than 1%

C. Does not require 100% inspection of the elements to achieve a satisfactory
inference of the population

D. Needs to be conducted only when a problem is discovered with the end

product or when the customer has some rejects
%ﬁﬁﬁﬁ”ﬁ%&ﬁam%?XF wi OB RGAR A0 T ik XAY T R R K
&,

A 7( FEERZ TR

B. RA VT 1%ttt LB AFH T

(:%ﬁmﬁ$kﬁﬁ A, RE AR A VAT 100%49 405

RA BEIRAL T S ARG B P BT s = S if A o Bt

NN

83. In attribute sampling the:
A. Result does or does not conform
B. Result is rated on a continuous scale that measures the degree of conformity
C. Emphasis is on normal process variation
D. Emphasis is on determining whether a result falls within specific control
limits
E}%'Ti«‘hbﬁ ki
R BRI —H
ERRAELZ ERATNE, CTUBE—HORE
C ? AT ELAISAEmE
D. TR AZERRAT HEE—THIEFZRAN

84. The“rule of sevenas applied to statistical process control charts means that:
A. Seven rejects typically occur per thousand inspections
B. Seven consecutive points are ascending, descending, or the same



C. At least seven inspectors should be in place for every thousand employees
D. A process is not out of control even though seven measurements fall outside
the lower and upper control limits
At AR 5 ] B o BT R 497 EALR R
A. 1000 kAT A = 7 AT RS
B.7 A& 4.8 LA FERA AR
C. #1000 MR ¥ ZDH 7445 )
D. Bk 7 ARFEAEE L. FRFIRRZIN, TRELEH RFHEH

85. The overall intentions and direction of an organization with regard to quality as
formally expressed by top management is a:
A. Quality Plan
B. Quality Statement
C. Quality Policy
D. TQM
TS VSRV E TP EY E ATFR S JcP L o S
A. Rzt X
B. &L P
C. REFAT
D. 2@ /RZEH

86. The concept of zero inventory is called:
A. Six sigma
B. Continuous improvement
C. Just in Time
D. Zero defects
TR IS AR A :
A. 60
B. 4t
C. T
D. R#kf4

87. Which of the following is not considered a cost of nonconformance to quality?
A. Scrap
B. Rework
C. Call back

D. Process control

T 3R — IR TRAEIA A & A — R F 8 A2
A. B
B. AT
C. &m

D. idAf2 4= 4

88. The quality management plan describes all the following except the:



A. Method for implementing the quality policy
B. Project quality system
C. Organizational structure, responsibilities, procedures, processes, and resources
needed to implement project quality management
D. Procedures used to conduct trade-off analyses among cost, schedule, and
quality
REE iﬂﬂ'& WBATIIAH, BT
B T AT Tk
B ﬁﬂﬁ%@%
C. %M. mﬁ A2 ARAE R R EER B HEE LG TR
D. ARBERA. R AR T Z A SATAH S AT 69 AL 7

89. Traditional thinking before Crosby, Juran, Deming, and others on quality
performance standards held that error is:
A. Beneficial because we all learn from our mistakes
B. Inevitable
C. Unlikely if a sufficient number of inspectors is used in the process
D. More costly than the sophisticated design work required preventing it
yid Crosby, Juran, Deming Fo Hft,— 3 AZ A7, MR ZHATAREIE LA HIAS
A HREA H, RERNAT $2| 2%
Bu%mﬁuﬁ%
(1R%Eﬁ%ﬁﬁﬁﬁ*&mi%%%%ﬁ%Aﬁ,%ﬁ%%éii
D. A Bk AR A A it AT B8 69 B SR T RAEAT 89

90. In quality planning, stakeholders should be informed of the quality policy by the:
A. Head of the organization
B. Project manager
C. Project management team
D. Functional managers
EREARNF, RERFE S df@43]F 2 A
A. R AR
B. M H %3
C. RH & AP
D. R4

91. The primary result of effective team development is:

A. Improved project performance

B. An effective, smoothly running team

C. An understanding by project team members that the project manager is
ultimately responsible for project performances

D. Enhancement of the ability of stakeholders to contribute as individuals and

team members
AR A AT L T2 RT:

A. R B G E



B. ANEEA 2. AL
C. B AR FMEIR B 23R AX R B %2 7
D. &5 B T R A AMNAL B PARR I AT B B0 7T #kaY 4

92. Your boss believes that all of your project team members avoid work as much as
possible. He often uses threats and various controls schemes to make sure people
are doing their jobs. What approach to managing people does your boss believe?
A. Theory X
B. Theory Y
C. Theory Z
D. Theory W

R 6 RN A AR 89 2R3 B 2R T ARRST RedbiBt 2, TAE . A2 5w AR R iAo TS )

82 13 R A RAN E AN 8 TAE. R ZAREAH 47 iR 27
A X
B.Y ¥
C.Z #©
D.W X

93. Tools and techniques for Team Development include all except:
A. Team-building activities
B. General management skills
C. Role and responsibility assignments
D. Rewards and recognition systems
B IANFF R PR 8 T A A B AR QAT RTR, IRT:
A. BIINEIRF D)
B. ®HLE I A
C. A& iEdE e
D. itk 7%

94. Constraints in HR Planning do not include:
A. Impacts of weather
B. Organizational structure of the performing organization
C. Collective bargaining
D. Expected staff assignments
AT FERALK F 09 29 R @35
A. RAMF
B. $ATLRLR 4 2R LR 45 H)
C. 7 Fk
D. T#Aeg il T482

95. The three types of power available to the project manager based solely on his or
her position in the organization include:
A. Formal, reward, and penalty
B. Reward, referent, and formal



C. Expert, referent, and formal
D. Reward, expert, and referent
AR Y REATRA ZEGIRSGMA 389 3RS @45
A, EXRA . LA FET R
B. 2R A BIZRA) Ao XAT)
C. ¥ZRI. BRERAFEXRA
D. £ A EEZR I FIz R

96. The primary method of reducing conflict in projects is to:
A. Hold periodic group meetings
B. Use group facilitators
C. Perform careful project planning
D. Enforce strict rules about arguing
BB PR R TR0 kA
A, IARAT A
B. 1% A AR
C. #ATHF4m 6470 B FLX
D. 3BALA K e B AT

97. All the following are symptoms of bad teamwork in the project team except:
A. Frustration
B. Excessive meetings
C. Lack of trust or confidence in the project manager
D. Unproductive meetings
T2 &RARL A B E A ARAL A B ARV AEAR, TRT
A. HI7
B. it % 92X
C. AfRE BEHEZIEH5EC
D. AA RN

98. Which of the following statements is true concerning Maslow’s hierarchy of
needs?
A. The lowest level need is for safety
B. Maslow argues that humans cannot control their own destiny
C. A satisfied need is no longer a motivator
D. There are seven levels in Maslow’s hierarchy
T —A A2 T B ATE (Maslow) 69 2 E Rk R A7
A RIKEROGEERZE
B. L&A R Rz H 1] B ey 4riE
C. Lk EZRTAAMMA X
D. KL E6)EREETH TNER

99. All the following have been found to be major barriers to building effective
project teams except:



A. Differing priorities, interests, and judgments of team members
B. Role conflicts
C. Lack of team member commitment

D. Amount of physical office space allotted to each team member

FITA T 5] &-3R Ak & IR HERH #)R B B A8 221875, R T

A. B LRI TR 894K A g A F) BT
B. AEAHR
C. R Z B RN 49 K%

D. - BussHASR B LA 3R A E R W 3

100.All of the following is an example of team development techniques except:
A. Activities to improve interpersonal relationship among team members
B. Rewards and recognition system
C. Kick-off meeting
D. Project manager solve conflicts of the team
T2 & IRARE H ATF R ARG T, e
A HEB AR R GIATR K & 6975 3)
B. £k kK&
C. FLAB
D. B £33t A of oG 3E

101.The first topic to address in a project kick-off meeting is:
A. Roles and responsibilities
B. Resource plans and schedules
C. Project plans and budgets
D. Project scope and schedules
A—ARBIFLRBOF F— ARtk e) TR
A. F&FiE
B. SR RIA R
C. R B i XA FH
D. 1 B & Bl fa it &

102.Conflict resolution techniques that may be used on a project include:
A. Compromising, directing, and withdrawing
B. Compromising, smoothing, and withdrawing
C. Confronting, directing, and smoothing
D. Confronting, smoothing, and withdrawing
F—ATE ¥ AR 09 R AB AR ad6:
A. k. 385 AR
B. %W, AFeAefiiR
C. mxt. FH-FAifAe
D. @af. PFAFefaffiid

103.Which of the following is NOT a form of power that the project manager can use



due to the position of project manager in the company?
A. Formal
B. Reward
C. Penalty
D. Expert
TR —ALATRE £y FH AN E) A 8942 BT AR 694 6975 X2
A EXRT
B. 7R H
C. BIARA
D. £ER

104.According to Herzberg, which of the following is not considered to be a
motivator?
A. Money
B. Achievement
C. Recognition
D. Advancement
IRBARZZAOHE (Herzberg) #9324, T 9\ —TRIEA A & 3 B Z 2
A B4
B. it
C. A™T
D. #&Jt

105.What is the most common cause of conflict in the early stage of projects?
A. Personality conflicts
B. Priorities
C. Cost
D. Schedules
A ARG m e RRE A A?
A ANHEAF R
B. #E%
C. A
D. @&

106.All the following are barriers to communication except:
A. Detrimental attitudes associated with low compensation
B. Difficulties with technical language
C. Liquidated damages provisions is fixed-contracts
D. Lack of clear communication channels
T ERHAAEER, RT:
A. HAKAMZAR X 69 S
B. s AREZ RE| HE
C. B EMER +A RiF MR FHK
D. #&Z B #0448 R b



107.In general, disagreements among stakeholders should be resolved in favor of the:
A. Sponsor
B. Senior management
C. Performing organization
D. Customer
—fgmE, REFRALNG R SAA AT w5 Xk,
A. A ZRA
B. HREEE
C. W B PATHLR
D. &F

108.A Project manager who wants to create a receptive atmosphere for
communicating should:
A. Ensure that all communication is clear and understood
B. Speak or write as he or she would like to be spoken or written to
C. Have the project team prepare a project communication plan
D. Ensure that team members have the information needed to do their work
—12R B 22 A AN ETHLABINE, L.
A. FRIRFTAT R BARBA#, ARMIEM T
B. # B I M Z R HRE 4975 XEHRE
C. L3R B PAMEAEE—r R B 48 T K]
D. #4RIA B &0 IAA WA 89 TAEPTE 0915 &

109.Which of the following links the project roles and responsibilities to the project
scope definition?
A. Organizational Breakdown Structure
B. Responsibility Assignment Matrix
C. Roles Assignment Chart
D. Project Scope and Roles Matrix
THI—TERE 69 EATIES R T E T LI A fE—AL?
A. B RN
B. JriEsBLAEME
C. AE&nmhk
D. J AL E A=A &AM

110.A project should be terminated for all of the following reasons except:
A. Lack of team synergy necessary to achieve top quality
B. The project no longer meets the company’s objectives
C. The resources are not available to complete project activities
D. Project funding has been significantly reduced
—ANRE ik FFR A RE ML, RT:
A. HZ LINA R TR 2 & H AT B AE )
B. B RH# 5] 69 B AR



C. AR B &6 50 R AT A
D. M B FTEMARKHRY T

111.A constraining factor that may affect the organization of the project team is:
A. The organizational structure of the performing organization
B. Poor communication among team members
C. Ambiguous staffing requirements
D. Team morale
EEEAGE LRGN PR EOF S
A. PATLRLR 6L LR 4 M
B. B PARR R Z 848k £
C. 2P AR 492K 8 #
D. BRAEA,

112.Empathic listening entails understanding another person’s frame of reference. To
exhibit empathic listening skills, a project manager should:
A. Mimic the content of the message
B. Probe, then evaluate the content
C. Evaluate the content, then advise
D. Rephrase the content and reflect the feeling
BT E BN ABLFTEE ., AT RINEBEANGMFTET, AEEH
M H:
A, AR EAZ G0 A
B. REFIPEZ L AR
C. "HERXLH R, REREZIN
D. P& A 55t R L

113.The project manager can help the project team develop a sense of identity as a
group by:
A. Communicating frequently through e-mail
B. Creating an air of mystery about the project
C. Having a “war room”
D. Issuing guidelines on how team members should interact with other stake
holders
MAZETAEE AR E B RE AP BERIAR A
A. G HAE A, F R A aE
B. i —/NH X H 6949 R AA
C. %J_*/\“ﬁ’ﬁ‘k £
D. & B AR R L iZ 4T 5 H AR B T 2 AR L A48 57 4

114.What are the four parts of the communications model?
A. Sending, Receiving, Decoding, and Comprehending
B. Sender, Message, Medium, Receiver
C. Communicator, Message, Receiver, Decoder



D. Communicator, Transmitting, Receiving, Comprehending
AIBARE G W A RAT A2
A RiEL EZ. BAERT R
B. Kt . K&, HWAAECE
C. A, W& BHF MBS
D. A, fiE, BT #%

=

115.What percent of time does a project manager spend for communication?
A. 50%
B. 75%-90%
C. 30%
D. 40%-60%
RE G AB LA E S V7
A. 50%
B. 75%-90%
C. 30%
D. 40%-60%

116.Which of the following tools or techniques are used in the information
distribution process?
A. Communication management plan, project plan, and information distribution
system
B. Information distribution system, information retrieval system, and performance
reports
C. Communication skills, information retrieval system, and information
distribution system
D. Communication skills, work results, and status reports
B &R A LA TR B T 5 —AF T RIEA?
A. AR IR RE I RAEELE R
B. R &K EA%. 158680 % F A G BIRE
C. MBFAL. BELEAAIELLERA
D. A e, L RFRERSE

117.1deally, communication between the project manager and the project team
members should take place:
A. via daily of weekly status reports
B. through approved template forms
C. by written and oral communication
D. through the formal chain of command
A, A ZEAT A LR R 0 6448 5% A
A. BB W RE R R ERE
B. il it bR e ARAR R A
C. it Hdagfen KgiaE
D. i@ id i K a)adodt



118.All the following are objectives of the kickoff meeting except:

A. Establishing working relationships and lies of communication

B. Reviewing project plans

C. Establishing individual and group responsibilities and accountabilities

D. Discussing specific legal issues regarding the contract
THERHRAR BN BT, RT:

A 3 TARK R AR B IR

B. % 7 B X

C. EIZAMAFe T4

D. A XA F 49 AR EAE R A

119.Which of the following is true regarding communication within a project
environment?
A. The project manager must assume the primary burden of responsibility to
ensure that messages sent have been received
B. Effective meetings, a war room, and a tight matrix promote effective
communication
C. If a project consists of 12 people, 48 potential channels of communication exist
D. Most project managers spend 30 percent of their working hours engaged in
communication
AREITELT, TIARABA AR EHG?
A. B ZIRLIMARIBERTAL, ARRE S0 & e 2003
B. AR MR E A K5 A SRR T AR AT 2 A 18
C. 4o R—ARE & 12 AR, N AAE A8 N AERE
D. X3 %0 B KA 30%4) AR 18 A T 4138

120.In person-to-person communication, messages are sent on verbal levels and
nonverbal levels simultaneously. As a general rule, what percentage of the
message actually is sent through nonverbal cues?
A. 5%-15%
B. 20%-30%
C. 40%-50%
D. Greater than 50%
BEAFT AR F, 4 &R M O Sk fedf o KR, AFA—A—fRAN], @it
O KEE AL &k B D )?
A. 5%-15%
B. 20%-30%
C. 40%-50%
D. 5T 50%

121.All the following are purposes of project risk management except:
A. Identifying factors that are likely to affect the project scope, quality, time and
cost



B. Developing response strategies for all identified risks
C. Providing a baseline for project factors that cannot be controlled
D. Mitigating impacts by influencing project factors that can be controlled
TFIPTA BIRARAT B RIeE g B ey, RT:
A PAITHRYARECE. RE. BEfR Ao B E
B. BT A 9 SR 5 R 4] 2 JUFe B2 AT 31 X
C. AREI=4) 6970 B B Z R AR
D. i i Frh A5 d H] 69 R B B & MR E R A

122. It is MOST appropriate to use the Delphi technique when:
A. Simulation models are complex.
B. Historical data is abundant.
C. Algorithms are heuristic.
D. Collective group knowledge is sought.
TR R IE SR & RIEHA:
AAEFER 7 F 2%
B L HHEFE .
C.HEA KA,
DAR & FAk 4R,

123.A diagram used to show causal influence and time sequence of events in risk
identification process is:
A. Cause-Effect diagram
B. Influence diagram
C. Flowchart
D. Pareto diagram
AR A A2+ AR R TR ERh . FHG IR Ak R 6B F kA
A HXRHA
B. # A A
C. AR
D. thRitH

124.Given the information in the following table, what is the expected value from this
risk event?

Probability Result
A. -10000 0.4 _10000
B.-7500 0.3 ~7500
C. +25000 0.2 -5000
D. -7000 0.1 +2500

TRF YRS FHGTIERS V2



A. -10000 S 42
B. -7500 0.4 -10000
C. +25000 0.3 -7500
D. -7000 0.2 -5000
0.1 +2500

125.1f a business venture has a 60% chance to earn $2 million and a 20% chance to
loses 1.5 million, what is the expected monetary value of the venture?
A. ($50000)
B. $300000
C. $500000
D. $900000
4o R — R LKA 0% IR 200 7 £T, €A 20%HTHMRL 150 7
£, NXRZFHTRAE PNAELZ V2
A. -$50000
B. $300000
C. $500000
D. $900000

126.Which of the following considers the attitude of the decision maker toward risk?
A. Decision-tree analysis
B. Sensitivity analysis
C. Utility theory
D. Decision theory
THIAR—IRE JE T R R AT 69 A5 27
A RFBIHT
B. #BMSHT
C. &A%
D. R

127.Most schedule simulations are based on some form of which of the following?
A. Delphi
B. RERT
C.CPM
D. Monte Carlo Analysis
R 3 Bt AR T T 51 AAE 947 77 2
A R
B. PERT
C.CPM
D. R4&FFF 5

128.Critical path tasks are those tasks that:

A.Have equal pessimistic, optimistic, and most likely estimated times
B.Have a float time of zero

C.Have the same start date



D.Have multiple early start dates and early finish dates
KAEFEARE 5548 04 AR 24T 5

AK EAR 6B, RILA 7T 4869 BF 18] 453+

B.B 1] 693 sh & AH K

CAH #AF) ¢4 44 B 4
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129.0f thde four types of risk inherent in project management, which one will have
the most lasting effect from the customer’s perspective if not managed well?
A. Scope risk
B. Schedule risk
C. Cost risk
D. Quality risk
AR A ERGEAEA RS LY &, o REHEEST, MANEP G HERE,
=R ERR KA A ?
A. SEE X
B. #tE it X K
C. AR
D. Jn A&

130.The highest risk impact generally occurs during which of the following project
life-cycle phases?
A. Concept and planning
B. Planning and implementation
C. Implementation and closeout
D. Concept and closeout
" E 6 % e 1 I T & 6 AR — AN B A B AT
A. AT s ALK B
B. AR A HATH
C. #ATALRH
D. BT RARIN

131.Each of the following statements about risk avoidance is true except that it
A. Focuses on eliminating the elements that are creating the risk
B. Includes making the decision not to bid on a project in which the risk exposure
is believed to be too high
C. Accepts the consequences of the risk event should it occur
D. Includes leaving the risk with the customer when the customer is in the best
position to mitigate the risk
To X TR = #E FRA T, A—TREAIRE?
A, B IRAR L 5 e 6 B &
B. @4EAf LB Ml R A RR, BAHZRE GREBOAA KRS T
C. R 3R A i3 i R 69 e R
D. 4o RE P AT EBRIEA Ao s, NFRIE G LE P



132.When should a risk be avoided?
A. When the risk event has a low probability of occurrence and low impact
B. When the risk event is unacceptable-generally one with a very high probability
of occurrence and high impact
C. When the risk can be transferred by purchasing insurance
D. A risk event can never be avoided
L ZAT I 1) 8 — A R ?
A, BRI F 4R A EBARA R v 5 b B iR
B. U F A& T 3% 0 W ——8 7 T K A MRIR ZH AR ek K a9 X
e s
C. &R fig il i W) 3K RIS f 4545 64 i 1%
D. R A KT AR R T A A8 %,

133.An example of risk transfer is:
A. Using new technology in the development of a product
B. Purchasing insurance
C. Eliminating the cause of a risk
D. Accepting a lower profit if costs overrun
R 4475 b — A 52 ) =2
A, FE 5 S 0T R R AR R AT R
B. Xkl
C. HIRRE& g R E
D. 4o RMAA L, NiEZ— A F)E

134.In a proactive approach to project risk management, the amount of a contingency
reserve should be based on:
A. Percentages based on past experience
B. The sum total of the most likely probability and impact of the various risk
events
C. A set amount allocated to each item proportionately
D. An allowance of 10% for each phase in the project life cycle
B —RARMRAG R B R E LI E T, MM Ee RS Bk T
A, ARFELE R H T 0E 4L
B. AT fe & A 69 e F 4 a9 R Fa 8ok 09 Ko Ae
C. b o B 220 6 B 248
D. A A4 B H T HE—ATEE 10%89 TG &

135.Additional risk response development is needed when the
A. WBS is changed
B. Cost baseline is changed
C. Risk event was unexpected or the effect is greater than anticipated

D. Project plan is updated
A+ A TR E Z B 64 KU 2 2 TR 2
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B. AAEFRILAET BiL

C. BT BN E R A Hrm kTR 2= E/5 %
D. WA X EHT

136.Which of the following is a method for quantifying qualitative data in order to
minimize the effect of personal prejudice on source selection?
A. Weighting system
B. Screening system
C. Selecting system
D. Independent estimates
T VIR —AY A B R, AR AT B 450 R LR B R b — AN k7
A. FeA R R
B. fhit & %
C. &A%
D. A5

137.1f the probability of event A is 80%, and of event B is 70% and they are
independent events, how likely is it that both events will occur?

A. 6%

B. 15%

C. 24%

D. 56%
do R EM A R A NER 80%, M B R ANMER 0%, FAECNAKRSE
. IAFHRNLAGMELSR S V?

A. 6%

B. 15%

C. 24%

D. 56%

138.The primary advantage of using decision-tree analysis in project risk management
is that it:
A. Considers the attitude of the decision maker toward risk
B. Forces consideration of the probability of each outcome
C. Helps identify and postulate risk scenarios for the project
D. Shows how risks can occur in combination
R B R 32342 P A% ) i FATOAT AR RS E T e
A, FIET RF X RIS 552
B. 84 AAMH BAER L R G E
C. #Bhif A FRE R B A
D. KBk T R =2 4T i 4 & A

139.Transference is to transfer risks by:
A. contracting part or all project to other parties



B. developing alternative schedule plan
C. establishing a functional unit under the project manager to deal with risks
events
D. developing a disaster recovering plan
LAk ZER AT R e 4545,
A, BB 093 RERR QL AT
B. #E &M b9 d Bt X
C. £ B % 38 2 3% s BRAEAUAN AL 28 KU 351+
D. %2 RAEWE X

140.A cost-plus-percentage-cost(CPPC)contract has an estimated cost of $120000
with an agreed profit of 10% of the costs. The actual cost of the project is
$130000. What is the total reimbursement to the seller?

A. $143000
B. $142000
C. $140000
D.$132000

—/NRAABAE 5 HAF (CPPC) A —/N$120000 #4EtaA, FFF & A

4 10%AE A ALE. B 6 FIFRALSI30000, Ak e a2t R % )2
A. $143000
B. $142000
C. $140000
D. $132000

141.A cost-plus-incentive-fee(CPIF)contract has an estimated cost of $150000 with a
predetermined fee of $15000 and a share ratio of 80/20. The actual costs of the
project is $130000. How much profit does the seller make?

A. $31000
B. $19000
C. $55000
D. $40000

— A AIm Z AR (CPIF ) £ —A~$150000 8953 A $15000 49 T %

B Aa—/ 80/20 69404t & TH 49 5 FRARAAS$130000. £ 5 RAF S U AE?
A. $31000
B. $19000
C. $55000
D. $40000

142.A fixed-price-plus-incentive-fee(FPIF)contract has a target cost of $130000, a
target profit of $15000, a target price of $145000, a ceiling price of $160000, and
a share ratio of 80/20. The actual cost of the project was $150000. How much
profit does the seller make?
A. $10000
B. $15000



C. $0

D. $5000
—/~B) 2 A Am 5 55 A~ F) (FPIF ) 49 Bl A7 AR A2 ¥ 130000, E 4748 £ $15000,
B A4 2.$145000, & &5 FEMZ$160000, 32k F 2 80/20. A B 84 5 R & A
A $150000. =7 KF% U AIE?

A. $10000

B. $15000

C. $0

D. $5000

143.A fixed-price-plus-incentive-fee(FPIF)contract has a target cost of $130000, a
target profit of $15000, a target price of $145000,a ceiling price of $160000, and
a share ratio of 80/20. The actual cost of the project was $100000. How much
profit does the seller make?
A. $10000
B. $15000
C. $21000
D. $5000
— B A An 34 F) (FPIF ) 69 B 47 A 2 $130000, E 47F]iH £$15000,
B AR5 2 8145000, & & FRMZ$160000, 242k F 2 80/20. F B 49 52 R A
AZ$100000, k7 KAFZ D AVA?
A. $10000
B. $15000
C. $21000
D. $5000

144.Which of the following statements concerning contract type is correct?
A. Fixed price contracts offer buyers the highest potential risk
B. Cost reimbursable contracts offer buyers the lowest potential risk
C. Fixed price contracts are illegal in most regulated industries
D. Lump sum contracts offer sellers the highest potential risk
T A3k FA-F) £ A 4935k —IE #0972
A. BN AEEF) 4 5% 77 AR & 09 B KU
B. AAIRAE AL T B F) 45 F T RAR AR 049 A2 AU
C. B ZMAEAE R ERI,H AT L F 2 Gk
D. BNE R4 3k 7 AR & 09 B A e

145.Formal notification that the contract has been closed should be provided to the
seller by the:
A. Project manager
B. Person responsible for contract administration
C. Project control officer
D. Project sponsor or owner

AR BN B IE KB 4o FLIZ 6 RARL 2T,
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146.Contingency planning involves:
A. Defining the steps to be taken if an identified risk event should occur
B. Establishing a management reserve to cover unplanned expenditures
C. Preparing a stand-alone document that is separate from the over all project plan
D. Determining needed adjustments to make during the implementation phase of
a project
R 2t X eL4E:
A, 2 SRR 6 R T4 R A BT S SURLIZ R IR 8 7 B3R
B. At eyt 58 k%
C. M —hak = F BRI B 3 X o Lk
D. A2 B #ATH B T F Tt AT % Ff

147.Workarounds are determined in which of the following risk management process?
A. Risk Identification
B. Quantitative Risk Analysis
C. Risk Response Planning
D. Risk Monitoring and Controlling
AR A5 56T R € 2B 4G ARSI BL A 52 84 2
A. AR5
B. £ Z R [astt
Cwﬂ%ﬁﬁ%m
R 1k 4

148.Which of the following statements is not true with regard to cost-reimbursement
contracts?
A. The seller’s interest in cost control diminishes
B. Payment is based solely on the delivery of goods and services
C. The buyer’s concern about the seller’s performance increases
D. The buyer’s bears the greater financial risk

KT RABAEF, TIIIRELT EH?
A. R IR B 6 AR Y
B. it 3|43k
C. R Zhmk R 0B
D. EFARIEE KM 5K

149.As part of the contract close-out, project management should document the:
A. Statement of work
B. Payment schedules
C. Formal acceptance



D. Change control process
1B A BRI R —20 5, R B 432 5 % AL
A. T
B. A3t X
C. EX 5l
D. & #iz4|id4z

150.A procurement is a structured review of the procurement process used to
identify success and failures.
A. Audit

B. Post mortem
C. Management review

D. Flowchart
R AR AR P R R IR A AR A K KA L AR F
A. #it
B. M H EiFH
C. #WiTH
D. #AzH

151.You just learned that the U.S. Environmental Protection Agency issued a new
regulation for the handling of toxic waste. No longer can it be put on a cargo ship
and dumped offshore even if the boat is in international waters. You
recommended to your management that your company, transportation firm that
is hired by industries to dispose of such waste, undertake a project to develop
guidelines in response to this regulation. As a professional in project management
this shows the importance of
A. Adhering to legal requirements and ethical standards
B. Continually searching for new and more effective methods to do your work
C. Using legal requirements as the basis for all project selection decisions
D. The limited time frame in which projects must be completed
RR IR A £ B ISR F A S EAH L B — /37 09U . A A T B
PR LA, BINEE, BRAE R AR R Y LRAT, haihed B EHRA,
VA — ANAREAT AL Jg ) R AL B X K A 8], B A FHAT AR B k]2 xt
REMZ T4t EARBEEELAR, ZBFT M ERM,
HFEAE Rl
A MIFAR b TAE W7 3337 04 o AT LG T i
VA AR ZRAR A PR 3R B s 45 0k R ol Ay
R B SIS R PR 84 B 18]
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152.Which of the following situations describes a violation of the PMP’s Professional
Code of Conduct?
A. Accepting a gift that is within the customary guidelines of the country or
province you are currently working in
B. Use of confidential information to advance your position or influence a critical



decision.

C. Complying with laws and regulations of the state or province in which project
management services re provided

D. Disclosing information to a customer about a situation that may have an
appearance of impropriety
T —Fr R R T PMP g 3R AL AT 4 o 1) 2

A. #ARIAEE A TR E BRI 69 63 1R 3E% — 44

B. 1AM & RBIR G BRAL R A #o — AN KA R

C. FFARIRBER B & IR S9N KA 89 ik A= AL

D. F—ATHRA G EH 6912 8 EEL—NEF

153.Each of the following describes the personal integrity except:

A. Attempting to understand the religious and cultural sensitivities of the country
in which you have been assigned

B. Ensuring that personal interest does not interfere with your decision making
process

C. Accepting gifts in exchange for favoring one contractor over another

D. Maintaining confidentiality of sensitive information obtained during the project
life cycle
T G—RARE T AANERL, RT:

A, XA T AR Z AR TR B R 09 R AR LA R &

B. #R/AG A B R AT ARG R FELAR,

C. B2 AU A 2 BB — AR QL7 49 34t

D. 43220 B 5o B) HURAT 09 B2 9 IR M

154.Before reporting a perceived violation of an established rule or policy the project
manager should
A. Determine the risks associated with the violation
B. Ensure there is a reasonably clear and factual basis for reporting the violation
C. Ignore the violation until it actually affects the project results
D. Convene a committee to review the violation and determine the appropriate
response
FE AR — ik B S A AN RBFAG AT H LA, A B
B 5 1% % BAT AR XA R e
PRAEJE— AN U632 4n 50 F K209 A sk EARBZ B RAT A
ZwgiZ i RATA, HE|C%F E¥AZAE %R
BE-NERRRIPFZERATA, FREE 0 R4
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155.In order to balance the needs of the many stakeholders involved in your project
the most desirable method to achieve resolution of conflicts would be:
A. Compromise
B. Forcing
C. Controlling
D. Confrontation
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156.You receive a contract to perform testing for an external client. After contract
award, the customer provides you with the matrix to use for your 16 tests. The
vice president for engineering says that the customer’s test matrix is wrong, and
she will use a different test matrix, which should give better results. This is a
violation to the SOW. Suppose your sponsor is also the vice president for
engineering. You should:
A. Use the customer’s test matrix
B. Use the vice president’s test matrix without telling the customer
C. Use the engineering test matrix and inform the customer
D. Tell your sponsor that you want to set up a meeting with the customer to
resolve the conflict
PR B A — PR E P HATRR SR . ARFERZ)E, &P @R et
KB ) R AATAREY 16 KON, 28 A4 8] ERHE 7 69N RIEE R AR 49,
KX AE ) — AN RR A MRFEE, TS d F4Fa4 R, XFRT TR B
(SOW). MBdoifty R B L ARARA X EF LA K, R
A. R E P oMK FE E
B. 1 &% 3k 69 MKAE BRI E P
C. 128 &l & B NXFE A28 S K P
D. FifRe9R B ARAGBZB T —A LA EF R BURM R+ R

157.An effective method for improving an organization’s project management
knowledge base is through:
A. Coaching and mentoring
B. Referent power
C. A weak Matrix organizational structure
D. Fast Tracking
—ANA TFEGEAR ) R B I iR R AR BT R AR
I A b3
1A A
55 4B M X ZH LR 45 A
ik SRt
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158.You are managing an international joint venture construction project in the port
city of Melancholia. The Melancholian city council has passed a law that requires
that one of its representatives must be involved in front-end project planning and
decision-making. It has also been made clear to you that the city expects some
form of “unofficial” compensation for such work. You have not worked in this
country before so you are not sure about the best way to work with these



low-level government officials. Their involvement is critical because they need to

approve the issuance of licenses and permits required to import needed equipment,

supplies, and materials. Your best approach is to:

A. Follow local customs explicitly even if this means that you must make such
“payments” to local officials

B. Abide by the laws, regulations, and requirements of your own country and
follow them explicitly in this situation

C. Stay in tune with the political life in the countries involved in your project, but
do not knowingly engage in professional misconduct

D. Recognize the need for government involvement in the project, and do
whatever is required for success
AR EAEE B2 1 3% Melancholian #9—/NE FR&-F 23X *R B . Melancholian 771X
KRBT —TEE, BRI E R G o LA — & TR KA S
Aa, o ELBA Mk BB A b TAEAF B AR X 4 <dE B X 49709 AME . TR
BAAZANE R AL, kR4l b X K K-F 9 BUFE | TG REST &, b
13 RO B AFw kAR, B A R Mttt o B & . Bt e PR Faik
RS B A AR
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159.You have decided to become a PMP. Such certification is highly valued in your
organization, and big rewards are handed out to those who earn it. You want to sit
for the exam as soon as possible because you believe that if you are a PMP, you
will be selected to manage the second largest project ever undertaken by your
company. You just completed the application for certification. As you apply for
PMP certification, you need to make sure that you:
A. Satisfy all Professional Development Program requirements
B. Abide by the Project Management Professional Code of Professional Conduct
C. Can demonstrate that you can apply all the tools and techniques in the nine
knowledge areas of the PMBOK Guide
D. Update your resume to reflect your 2 years of experience in project
management during the last 6 years
R EZIEMA—% PMP, MG EREG AR T EA & ENME, = EK
FFNE GG AALREIRAT BRI AR AB R A 3K, B ) 1Rk AB4Z 4o RAR 2 PMP,
A RAGEAFE R E AR 5] § BRI F AR KRB L ARRIR 5 RIAIES
RO P, BRI PMP ARG AR, 1RE 25 ARG
it PR 6 3Rk it X B R
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A8l AR A8 AL I PMBOK 48 ) 49 FUAS 40 iR AU 09 FT AT T B Aa i R
FAARE B A VAMER BRI 6 FARERE EEG @6 2 FL2%

oSowp



160.Project Managers can contribute to their organization’s knowledge base and to the
profession of project management most effectively by:
A. Developing and implementing a project review and lessons learned process
B. Establishing strict guidelines for protecting intellectual property
C. Promote the use of ad hoc project management
D. Ensuring that all project plans are developed before the project team is formed
B ZIL AR 2O A 2L 6 Fo it e fe T B R IR IR LA TR 69 1842 AR
A. FZ A FE A B R F Ao 250 0| G 25 A2
B. # 3 P ARGYRI 4o iR ARG 485 7 4T
C. {REt4F 2 8 & 3 a2
D. FARFTA 6970 B 3+ X AR B 28R R AT

161.Using the table below, which WBS element is behind schedule but under budget?
Element P

Element Q

Element R

Element S
WBS BCWS BCWP ACWP
Element
P $1.000 $1.100 $1.150
Q $2.000 $1.800 $2.100
R $1.000 $1.200 $1.050
S $2.000 $1.900 $1.800

A F TR E, TS MM WBS 699 —2% £ % 5t E ek T A2
AZE P

B.&% Q

CE#% R

D&% S
IAEDRLE | o oiay o wr o | GIAT T | AT
# WBS & gﬁ ﬁ“cgzﬁ’g’" T A | A 5 TR A
¥ A BCWP | A ACWP
P $1.000 $1.100 $1.150
Q $2.000 $1.800 $2.100
R $1.000 $1.200 $1.050
S $2.000 $1.900 $1.800

162.The highest risk generally occurs during which of the following project life-cycle
phases?
A. Concept and planning
B. Planning and implementation
C. Implementation and closeout
D. Concept and closeout
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163.Which of the following processes involves obtaining proposals from prospective
sellers?
A. Procurement Planning
B. Source Selection
C. Solicitation
D. Solicitation Planning
T @ 49— A1 A2 AR A 3 77 RAF R B I $?
A, REHLX
B. Bt it#t
C.
D. ML

164.A narrative description of products or services to be supplied under contract is
called:
A. The project plan
B. A statement of work
C. An exception report
D. Pareto analysis
FEAF) 3R 5 5 BURSAGE BLIAAR A
A. FH R
B. TAE#LBA B
C. BIsMR%E
D. taRIENHT

165.Which item is not a basic element of a contract?
A. Offer
B. Acceptance
C. Consideration
D. Pricing structure
THRRARRAAR G EREER?
AR
B. #%
C. iT# 2R
D. &4

166.Administrative closure includes all but one of the following processes:
A. Collecting project records
B. Analyzing project effectiveness



C. Archiving information for future use
D. Formatting information for distribution
TBORR QIETA T 51342, (2R T
AR B LR

B.4a#730 B AR
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167.The type of contract that transfers most of the cost risk to the seller is:
A. Cost plus award fee
B. Fixed price plus incentive fee
C. Cost plus fixed fee
D. Fixed price
P KA 0 IS #5 4 2 77 69 6 F) £ A
A. B A R 5
B. B Z &N mh i
C. A E T
D. B
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168.Which of the following is an input to contract closeout?
A. The contract file
B. Contract documentation
C. The procurement audit
D. Formal acceptance
T AR — T A B R ST N?
A. &Rt
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C. R F it
D. iEXEK

169.The iterative process that helps determine those risks that might affect the project
and documenting their characteristics is known as:
A. Risk identification
B. Risk-handing
C. Lessons learned
D. Risk analysis
R A VA B i 2 AR R 2% om B ST 38 O 69 4 b X /S A2 A AR A
A
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170.Tom’s project seemed to hit a snag when the contractor completed the required



component, as defined in the Statement of Work. The contractor delivered on the

promise date, as specified, but the buyer was not pleased with the results. Tom

should consider the contract to be:

A. Complete because the contractor was satisfied

B. Complete because the contractor satisfied the terms and conditions of the
contract

C. Incomplete because the buyer did not feel the contractor fulfilled the terms of
the contract

D. Incomplete because the original specifications were not properly prepared
Tom 493 B A8 3] T AR & RRET Tk T 4o TAEDLEA 644 2 2R 09304,
B o AT, 2R F 2 s RIFRHZ. Tom HiZAEEF £ & H:
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171.A chief characteristic of the Delphi technique is:
A. Extrapolation from historical data

B. Intuitive expert opinion

C. Analytical hierarchy process

D.A guess

Delphi # AR89 £ Z4F 482
AARIE 7 B RAT IR
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172.When it comes to changes, the project manager's attention is best spent on:
A. Handling changes when they come to light
B. Recording changes
C. Letting management know about changes
D. Preventing unnecessary changes
AXTEE, NARERNIZKEGL:
AZINE LA, A FHATRAIE,
Bt & B #HATITE.
CikE®EHiB T E,
D.FriE Rl Z o R &,

173. Which of the following is the correct sequence of the procurement executing and
controling processes?
A. Procurement planning, Solicitation Planning, Solicitation
B. Solicitation Planning, Solicitation, Source Selection
C. Solicitation, Source Selection, Contract Administration
D. Source Selection, Contract Administration, Contract Closeout
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174.At the end of a project phase, a Phase-end review is scheduled. This review is
used to help the project sponsor mainly to:

A. Determine if the project should continue to the next phase

B. Understand what will be accomplished in the next phase

C. Find excuses for keeping staff members on the job

D. Acquire additional funding

FERE MR, B2 —ANRERTT P TEIERATHAE k£
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175.You have worked as a project manager in your country. You are assigned to
manage a global project where EU countries are involved. Among many things,
what should you prepare for this international project?
A. No specific actions are required. Just start planning your project.
B. Gain knowledge about the countries and their business customs.
C. Align your Chinese team to help implement the project in EU.
D. Analyze the project team members, and choose only proper members that have
some knowledge in the countries.
g AR AK LR A 2RO EZE, ARRBEET RN AEI KA E K62 RA
B. Rz EHESZANEFRE?
ATRE BAIFHRATE), TTHEEATIR B X T4E.
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176.You have an opportunity to make a good profit of a new service product to a new
customer. Although you had enough experiences in the similar projects, the
general manager asks you to exaggerate your experiences to make a quick
contract. What is the best way you can do in this situation?

A. Refuse that suggestion.

B. Offer that you have performed similar project installations.

C. Tell the general manager that you cannot misrepresent your qualifications, but
would explain your past experiences of similar projects to the new client and seek
training on the new product line before the installation.

D. Recommend another project manager to assist such sales promotion.
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177.A project manager in company WWW, Mr. Wang, has been working for the
customer Mr. Jin. Mr. Wang recently made friends with Miss Gong, who works in
the competitor of your current customer. One evening, Miss Gong took Mr. Wang
to a nice restaurant and bought an expensive dinner. At the dinner table, Miss
Gong asked many questions about Mr. Jin’s business and the current project. Mr.
Jin has discovered that Mr. Wang knows Miss Gong who works in Mr. Jin’s
competitor. What is the proper action that Mr. Wang should take FIRST?

A. Ask questions of Miss Gong until Mr. Wang understands Miss Gong’s intentions.

B. Ask to your customer, Mr. Jin, whether he knows that Miss Gong works for a

competitor of his company.

C. Mr. Wang should disclose to his supervisor that Mr. Jin thinks that Mr. Wang

provides information to Miss Gong.

D. Mr. Wang should disclose this fact to Mr. Wang’s supervisor and also to Mr. Jin,

the customer.
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178.A purchase order represents a:
A. Cash out-flow
B. Project expense
C. Commitment
D. Capital investment
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179.Mr. Han is a project manager on internet-based software project. With some



technical problems, Mr. Han had a discussion with his friends, Miss Lee and Mr.
Ren, Miss Lee has offered a suggestion. Following her suggestion, Mr. Han made
a good solution. Mr. Han told his supervisor that he developed this solution, and
would implement for the future projects. Mr. Ren knows that Mr. Han takes credit
for Miss Lee’s ideA.What is the proper way Mr. Ren should do about Mr. Han’s
improprieties?

A. Support Mr. Han and use the idea for her future projects.

B. Tell Miss Lee about that Mr. Han has taken credit for the idea.

C. Persuade Mr. Han to jointly share the credit with Miss Lee for this new idea and

suggest that both Mr. Han and Miss Lee document the procedure and distribute it to

the project management group.

D. Report to Mr. Han’s supervisor that Mr. Han took credit for someone else’s idea.
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180.Your company has started a development project for a public sector. The project
may destroy the environment. You company has long supported the
environmental movement. You are the project manager and are confronted by one
of the non-profit environmental group leader’s regarding your company’s
involvement in managing this “environmentally destructive” project. How should
you react to the environmental leader’s questions?

A. Only answer questions regarding the project work.

B. Speak out in opposition to your company’s involvement with this project.

C. State that you are the project manager on the project and are not qualified to
answer any environmental questions regarding the project; then refer them to the
public relations office for any further answers.

D. Admit that you are the project manager and try to handle all of the questions
that you can.
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181.Which of the following is considered a conflict of interest?

A. Discussing your project with a friend.

B. Starting to working for a competitor just after resigning your position.

C. A modest gift to you from a company that you have done business with for years.
D. Use your company’s affiliation to promote your own business.
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182.0ne of team members complains that the job condition is not safe. What is the
best approach of the project manager in dealing with this complaint?

A. Since only one member complains, do nothing.

B. Have the site inspected by your client’s safety manager and notify your
company’s safety organization regarding the potential hazard. Then follow-up with
the employee that made the complaint.

C. Have a meeting with the employee to discuss the problem only to make them
feel better about the situation.

D. Turn the entire problem over to the client for them to resolve.
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183.You are the project manager managing resources who are working in many
different countries. In order to manage the different cultures, what would you do?

A. Ignore the cultural differences.

B. Prepare a guideline for standard behavior applicable to all members.

C. Encourage members to respect for the cultural differences.

D. Teach them the culture of your own country in order the meet your company’s

policy.
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184.Miss Zhen is a project manager for the AAA Company and has maintained a good

performance in the projects. She was given an opportunity for a side-job, for

which she works after hours and on weekends, managing a project for small

company, BBB Company. Company BBB is not in competition with AAA

Company AAA does not know of her extra work activities for another company.

What should she do just to be on the safe side with her current employer, AAA?

A. Do nothing since it is on her own time and AAAA is not in competition with
this small company.

B. Talk with her management to ensure there are no conflict of interest policy
deviations.

C. Just tell her direct supervisor and let him tell her what to do.

D. Have the BBB Company assure her that they will not disclose to AAAA her
side-job.
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185.During half way to the project execution, you were assigned as a project manager.
After your reviewed the project, you discovered that the project might take
double the time which the previous project manager estimated. However, the
upper management has been told that the project was on schedule. When the
previous manager is an old friend of yours, what will be the best action?

A. Report your evaluation to the upper management

B. Have a team meeting to find the alternatives to meet the project schedule.

C. Meet the previous project manager and turn the project back.

D. Execute the project as planned by the previous manger and report to the upper

management at the time the project misses a milestone.
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186.Your manager has been a PMI® member. Once in the company-sponsored
training course, he reproduced and distributed portions of the PMBOKO. A
PMI® Ethics Review Committee now is reviewing this case. You have no
previous knowledge of this case. Recently you joined PMI®. An Ethics Review
Committee member asked you to answer a series of questions related to your
manager’s misdeeds. You have ---
A.No involvement because you are not a party to the ethics proceedings.
B.A responsibility to cooperate with PMI® concerning ethics violations and the
collection of related information.
C.No responsibility because you were not a PMI® member at the time this alleged
misuse took place.
D.No obligation to provide PMI® with any information because you have no
firsthand knowledge of the extant case
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187.You are a project manager working in a foreign country. You observe that some of
your project team members are having a difficult time adjusting to the new
culture. You provided then training on cultural differences and the customs of this
country before arriving, but they still seem uncomfortable and disoriented. Which
of the following is true?
A. This is the result of working with teams of people from two different countries.
B. This condition is known as culture shock.
C. This is the result of jet lag and travel fatigue.
D. This condition is known as global culturalism.
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188.Which of the following is true regarding Administrative Closure?
A.It occurs at the end of a project phase and at the end of the project.
B.It occurs at the end of the project phase only.



C.It occurs at the end of the project only.
D.It is performed prior to Contract Closeout.
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189.You are the project manager for Heart of Texas casual clothing company. Your
project involves installing a new human resources system. You’ve identified the
risks associated with this project and are ready for the next step. What is the next
step?
A. You will evaluate the risks and assign probabilities and impacts using
Qualitative and/or Quantitative Risk Analysis.
B. You will use the Delphi technique to confirm the risks you’ve detailed and
identify others you may have missed.
C. You must evaluate the risks and assign probabilities and impacts using both
Qualitative Risk Analysis, which comes first, then Quantitative Risk Analysis.
D. You will define the steps to take to respond to the risks and detail them in the
risk response plan.
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190.The project sponsor has approached you with a dilemmA.The CEO announced at
the annual stockholders meeting that the project you’re managing will be
completed by the end of this year. The problem is that this is six months prior to
the scheduled completion date. It’s too late to go back and correct her mistake,
and stockholders are expecting implementation by the announced date. You must
speed up the delivery date of this project. Your primary constraint before this
occurred was the budget. What actions can you take to help speed up the project?
A. Hire more resources to get the work completed faster.
B. Ask for more money so that you can contract out one of the phases you had
planned to do with in-house resources.
C. Utilize negotiation and influencing skills to convince the project sponsor to
speak with the CEO and make a correction to her announcement.
D. Examine the project plan to see if there are any phases that can be fast tracked,
and then revise the project plan to reflect the compression of the schedule.
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191.Your project involves the research and development of a new food additive.
You’re ready to release the product to your customer when you discover that a
minor reaction might occur in people with certain conditions. The reactions to
date have been very minor, and no known long-lasting side effects have been
noted. As project manager you should:

A. Do nothing because the reactions are so minor that very few people will be

affected.

B. Inform the customer that you’ve discovered this condition and tell them you’ll

research it further to determine the impacts.

C. Inform your customer that there is no problem with the additive except for an

extremely small percentage of the population and release the product to them.

D. Tell the customer you’ll correct the reaction problems in the next batch but you’ll

release the first batch of product to them now to begin using.
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192.Which term is not a common name for a procurement document that solicits an
offer from prospective sellers?
A. Invitation for bid
B. Request for information
C. Request for quotation
D. Invitation for negotiation
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193.You have just prepared an RFP for release. Your project involves a substantial
amount of contract work detailed in the RFP. Your favorite vendor drops by and
offers to give you and your spouse the use of their company condo for your
upcoming vacation. It’s located in a beautiful resort community that happens to
be one of your favorite places to go for a get away. What is the most appropriate
response?

A. Thank the vendor but decline the offer as you know this could be considered a
conflict of interest.

B. Thank the vendor and accept. This vendor is always offering you incentives
like this, so this offer does not likely have anything to do with the recent RFP release.

C. Thank the vendor, accept the offer, and immediately tell your project sponsor
so they’re aware of what you’re doing.

D. Thank the vendor but decline the offer because you’ve already made another

arrangement for this vacation. Ask them if you can take a rain check and arrange
another time to use the condo.
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194.A scope statement is important because it:
A. Provides the basis for making future project decisions.
B. Provides a brief summary of the project.
C. Approves the project for the stakeholders.
D. Provides criteria for measuring project cost.
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195.A project management professional can compare earned value performance data
to all of the following project management tools EXCEPT:
A. Critical path analysis.
B. Technical performance metrics.
C. Risk mitigation plans.
D. Forecasted final costs and schedule estimates.
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196.A project team was composed of 6 members. Six (6) more members additionally
joined to this team. What is the increase in communication channel?

A. Six (6)

B.4.4 times

C.2 times

D. Twenty
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197.A project's payback period ends when:

A. Profit maximum is realized.

B. Unit profit is realized.

C. Monthly revenue exceeds monthly costs.

D. Cumulative revenue equals cumulative costs.
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198.During the project scope planning process, the work breakdown structure should
be developed to:
A. The sub-project level.
B. The level determined by the project office.
C. A level allowing for adequate estimates.
D. The cost center level.
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199.A project loses a contractor in the middle of a project. A new project team is
formed to replace the role of the lost contractor and his/her team. As a project
manager, what is the FIRST topic to address to the team in the kick-off meeting?
A. Identify team roles and responsibilities.

B. Review detailed schedule.
C. Discuss cost estimates.
D. Emphasize your authority.
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200.Constructive team roles include:

A. Encourager, initiator, and gatekeeper.

B. Information giver, devil’s advocate, and clarifier.

C. Withdrawer, harmonizer, and blocker.

D. Summarizer, recognition seeker, and information seeker.
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